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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 819657757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A computer program that converts and stores an entire program into machine language is called a/an

Options:
| % Interpreter

> % Simulator
5  Compiler

4 % Assembler

Question Number : 1 Question Id : 819657757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 819657758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The command is used to insert a column to the left of the selected column in a table in Microsoft Word 2016,

Options:

, % Insert Column to the Right

> # Insert Rows Below
= « Insert Column to the Leit

4 % Insert Rows Above

Question Number : 2 Question Id : 819657758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Microsoft Word 2016 # aifesr & ousa =W # @12 317 ve =N dasag &1 & Be FHTE
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Options:
, = Insert Column to the Right

> % Insert Rows Below
= « Insert Column to the Left

4 % Insert Rows Above

Question Number : 3 Question Id : 819657759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

BIOS stand for:

Options:

7, Basic Input Output System.

5 #® Basic Inner Outer System.
5 % Better Input Output Service.

4 % Better Inner and Outer Services.

Question Number : 3 Question Id : 819657759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| v S8 FA9C 3MPeqe fATeA (Basic Input Output System.)

, » ST8% $T 3M3eT FATEH (Basic Inner Outer System)

3 % C Loy $eqC IHT3CYC wfE8sr (Better Input Output Service.)

4 % ¥eT TR 3T 33T BEES (Better Inner and Quter Services.)

Question Number : 4 Question Id : 819657760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A DVD is an example of a(n):



Options:
, w output device

> % hard disc
5  Optical disc

, = solid-state storage device

Question Number : 4 Question Id : 819657760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 819657761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Instructions or programs for controlling the computer are called:

Options:
1 « Software

- % Hardware
= % Humanware

4 8 Programmer

Question Number : 5 Question Id : 819657761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 819657762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcut keys represents the correct sequence for Copy. Paste and Cut commands?

Options:
;& Cul+ViCul+C Ctrl + X

5 o Ctl+ C Ctrl+V; Ctrl + X
z % Cil+X;Cul+C; Cl+V

4 % Cirl +¢ Cil X, Gt W

Question Number : 6 Question Id : 819657762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% Ctrl + V; Ctrl + C; Ctrl + X

1

5 o Ctrl + C; Ctrl + V; Ctrl + X

5w Ctrl + X; Cirl + C; Ctrl + V

4% Ctil + C; Cirl + X; Ctrl + V

Question Number : 7 Question Id : 819657763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft Word 2016, the dimension of the Letter page size is

Options:
L BRI

5 11T



3 % 8.5 x 14”

4 % 725" % 10.5”

Question Number : 7 Question Id : 819657763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 o 8.5% 117
o & 117 177
2z & 8.5"x 147

L # 7.25"x 10.5”

Question Number : 8 Question Id : 819657764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the e-mail address “author@gmail.com’, what does ‘.com’ indicate?

Options:
1 + Domain name

> % IP address
= % Port number

4 # Mac address

Question Number : 8 Question Id : 819657764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 819657765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To create the large-size drawings. architects and engineers often use a device called

Options:
1 « Plotter

> % Band Printer
- % Line Printer

4 % Laser Printer

Question Number : 9 Question Id : 819657765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 819657766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a tool for analysing spreadsheet data?

Options:
; % What-if Analysis
>  Mail Merge

= % (Goal Seek

4 % Sort



Question Number : 10 Question Id : 819657766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. = What-if Analysis
>  Mail Merge

= # Goal Seek

4 % Sort

Question Number : 11 Question Id : 819657767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following charts is NOT likely to be included in an analysis or presentation graphics package?

Options:
1 % Bar

> % Pie
5 Temperature

4 % Line

Question Number : 11 Question Id : 819657767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 12 Question Id : 819657768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which kev combination will take you at the beginning of the next or previous page of the document?

Options:



,  Ctrl+PageUp and Ctrl + PageDown

> % Shift + Home and Shift + End
=z % Ctrl - Home and Ctrl - End

, % Theonly way is by using the right scroll bar

Question Number : 12 Question Id : 819657768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, « Ctrl + PageUp FHT Ctrl + PageDown

. % Shift + Home 3T Shift + End

- = Ctrl + Home 3T Ctrl + End
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4.

Question Number : 13 Question Id : 819657769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
measures the amount of time required by the storage device to retrieve data and programs.

Options:
| Access speed

> % Media
5 # Storage device

4, » Capacity

Question Number : 13 Question Id : 819657769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 819657770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
refers to the height and width of the characters to be printed.

Options:
1 « “Font size”

> % “Border”
z ® “Cell”

4 w ~Font style”

Question Number : 14 Question Id : 819657770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 15 Question Id : 819657771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a listing of the topics that generally appears at the beginning of a document with their associated page
references.

Options:
1 % Index

-~ % Footnote



5 » Clipboard

4 « Table of Contents

Question Number : 15 Question Id : 819657771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 16 Question Id : 819657772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FTP stands for:

Options:

, w Field Transfer Project

- u File Transfer Project

= « File Transfer Protocol

4 # Fix transfer Protocol

Question Number : 16 Question Id : 819657772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
. Field Transfer Project (FIeg TR F=9<)

1 =

. » File Transfer Project (W%T$el gleH® qIAFe)



.  File Transfer Protocol (Frger TEWT Heieie)

, = Fix Transfer Protocol (% grawe Seisio)

Question Number : 17 Question Id : 819657773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The WWW stands for:
Options:

World Wide Welfare

®

i,

> « World Wide Web

&,

Wide Web Welfare

L
®

World Widest Web

o
®

Question Number : 17 Question Id : 819657773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 819657774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Multiprogramming started in which generation of computers?

Options:
, w First generation

- % Second generation

5 Third generation



, = Fourth generation

Question Number : 18 Question Id : 819657774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 819657775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the smallest and largest font size available in font size tool on formatting toolbar in Microsoft Word?

Options:
1 « 8and 72

> % 8 and 64
3 % 12and 72

4 % 61070

Question Number : 19 Question Id : 819657775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L v 8 3T 72

. = 8 3T 64
2 x 12 3T 72

4 % 6 3T 70



Question Number : 20 Question Id : 819657776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to make presentation?

Options:
Microsoft Windows

®

i,

> « Microsoft PowerPoint

&,

Microsoft Excel

L
®

Microsoft Word

o
®

Question Number : 20 Question Id : 819657776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 & MS Windows
> « MS PowerPoint
2 # MS Excel

4 % Microsoft Word

Question Number : 21 Question Id : 819657777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A browser is:

Options:
1. %

A special folder on the windows desktop used to keep documents up to date when shared between computers

> % A line that delineates the edge of a program window

- A software program used for viewing web pages on the internet

4 % Awindow that is currently open

Question Number : 21 Question Id : 819657777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 819657778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The resolution of a VGA screen is:
Options:

1 % 1024 x 768

> % 512x512
5 « 640 x 480

4 % 800 % 600

Question Number : 22 Question Id : 819657778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
VGA T & ISegel F4 ¢§

Options:

, % 1024 x 768
, ® 512 x 512
- « 640 x 480

, = 800 x 600

Question Number : 23 Question Id : 819657779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Formulas with absolute references are references that always:-

Options:



, w Referto the different cells, regardless of the location of the formula

> % Produce 0 as the default

-  Referto the same cells. regardless of the location of the formula

4 % Referto same cell, with the location of the formula

Question Number : 23 Question Id : 819657779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 819657780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Decimal tab:-

Options:

, w Center align the element numbers

-~ » Left align the element numbers

3 o Align the numbers at the decimal

4 = Right align the element numbers

Question Number : 24 Question Id : 819657780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 819657781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You can move quickly to a location in a word document using the Go To command. You can press keys
together to display the Go To tab of the Find and Replace dialog box.

Options:

1 & Ctul+G
5 8 Chl+T
2 8 Chl+O
4 ® Alt+G

Question Number : 25 Question Id : 819657781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L v Ctl + G
o % Ctrl + T
2 % Ctl + O

L% Alt + G

Question Number : 26 Question Id : 819657782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tha  petsthe computer systam started after you turn it on and manages the data flow between the operating
gystem and attached devices.

Options:
, w Operating System

> % Assembler



-  BIOS (Basic Input/Output System)

4 % Device Driver

Question Number : 26 Question Id : 819657782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 27 Question Id : 819657783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The following key combination can be used to open View tab in Microsoft Excel?

Options:
1 % Ctrl+V
> % Cirl+-W

o o Alt+W

EE Alt+V

Question Number : 27 Question Id : 819657783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS-Excel # View (&7) &7 Tt & fow fara 7 & 5w F=t T &1 waier fvar = @9har 82
Options:

L % Ctrl + V

5 % Ctrl + W

2 v Alt + W



L% Alt +V

Question Number : 28 Question Id : 819657784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft Word. pressing F8§ key for three times selects:

Options:
1 ®% aword

- « asentence
- % aparagraph

4 % entire document

Question Number : 28 Question Id : 819657784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 819657785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Type of ROM which is manufactured without any initial storage in it is called

Options:
| « PROM
5 % EROM

- % BROM

4 » DROM

Question Number : 29 Question Id : 819657785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

. v PROM

, « EROM
- » BROM

. = DROM

Question Number : 30 Question Id : 819657786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In configuration a link is shared between several devices.

Options:
1 % shared link

> % distributed file
- w pointto point

4  multi-point

Question Number : 30 Question Id : 819657786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 819657787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
While connecting computers in a Workgroup maodel, the name of all the computers should be samse.




Options:

, % computer

> # host

-  Workgroup

4 % domain

Question Number : 31 Question Id : 819657787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 819657788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
During its lifetime, a typical virus generally goes through levels of phases.

Options:
1 ® 1Two

> o four
3 % three

4 % five

Question Number : 32 Question Id : 819657788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 819657789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Notebook users can do secure wireless connection through:

Options:
1 ®% Wireless Switch

> % Wireless Hub
= % Router

4 o USB Wireless Network Adapter

Question Number : 33 Question Id : 819657789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alcgs FTAETHAT & ARTHA ¥ AT TEAH FaAaeld F qohl |

Options:

1 ® mﬁhﬂ'
. w T &

z % 3]

- J.UH.E. IRIH Acdd TSI

Question Number : 34 Question Id : 819657790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
enables administrators to observe network and hardware failure.

Options:
, w Unit testing

o % System testing



5 » Integration testing

4  Stress testing

Question Number : 34 Question Id : 819657790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 819657791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
enables Windows 10 to connect devices to ad-hoc wireless network.

Options:

, w DBaseband tethering

> % Wireless tethering
-  Broadband tethering

4 % Ad-hoc tethering

Question Number : 35 Question Id : 819657791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 36 Question Id : 819657792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following features of Google Calendar allows users to set aside blocks of time on their catendar where others
can reserve specific portions?
Options:
1 % Card slots

-  Appointment slots

= % Generic slots

4 % Information slots

Question Number : 36 Question Id : 819657792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Google Calendsr #§ Fi=-H1 w7 TGRS &1 79 32 T TAT BE & H00 5 &0 GauT &7 1,

Options:
1 #® ﬂé— ol

Question Number : 37 Question Id : 819657793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In LINUX boot process kernel executes process.

Options:
1 init
> % kernel

- % GRUB

4 % MBR



Question Number : 37 Question Id : 819657793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LINUX &, g2 SfFar sefer g fEsTfea aar g

Options:
1 ¢ init

> # Kernel
= # GRUB

. # MBR

Question Number : 38 Question Id : 819657794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which file format is used to save Windows Media Video file?
Options:

1 ® wmvf

> % .wmf

2 f WV

4 ® vl

Question Number : 38 Question Id : 819657794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e Mg fitTr wEd (Windows Media Video file) F1 B9 =14 & @IT Fia-T1 W WHe 39407
o =T 37

Options:
1 ® wmvf

> % wmf
2 WMV

4 % .mvf

Question Number : 39 Question Id : 819657795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file format is used to save Microsoft Advanced Streaming Redirector file?



Options:

1 % .avi
5 o .aSX
z % .arf

4 u .asrf

Question Number : 39 Question Id : 819657795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AEFEYE TZaFs =R fEmiEsT w5 (Microsoft Advanced Streaming Redirector file) &7 B &1
F BT SiA-0 wET ®HEE F I9ET Far S @7

Options:

1 ®% .avi

o o .asX
2 ¥ arf

4 % .asrf

Question Number : 40 Question Id : 819657796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will be the output for the function CHAR(72) in OpenOffice Calc?

Options:
1 ® B
A F
3¢ H

4 % C

Question Number : 40 Question Id : 819657796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Open office Calc # Heare CHAR(72) & T H13eYe g7

Options:

1-‘»&5



Question Number : 41 Question Id : 819657797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which device is used to select a displayed menu option on the monitor?

Options:
1 # Handheld scanner

> % MICR
s % OCR

4  Lightpen

Question Number : 41 Question Id : 819657797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
AT o7 e w2fife 2 ey &1 907 =2 & By 5y ey (F9=on) F71 v e == 20

Options:

| % E5898 TPl
, % MICR

s = OCR

L @ BT 9T

Question Number : 42 Question Id : 819657798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the storage capacity of DVD 47

Options:
| v 4.95GB



4 % 5.0GB
Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 42 Question Id : 819657798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

DVD 4 #T HIguT &7 AT FT 87
Options:

. v 495 GB

. % 55 GB
. % 45 GB

. % 5.0 GB

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 43 Question Id : 819657799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT from Google?

Options:
1 # YouTube

5  DBINg
= % Picasa

4 % Android

Question Number : 43 Question Id : 819657799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=8 W -8 Google ¥ Tafg 72T 87

Options:
1 # YouTube

-  Bing
= % Picasa

4 % Android



Question Number : 44 Question Id : 819657800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following device is used for controlling machines such as cranes, industrial robots?

Options:
,  Joystick

- % Scanners
= % Trackball

4 % Monitors

Question Number : 44 Question Id : 819657800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Fe, JHiegEe e =@ A F FEfEg == F v T d § SFEer s9geT G A 87

Options:

1. 3 aTE

Question Number : 45 Question Id : 819657801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
PGP stands for:
Options:

, « Pretty Good Privacy

- u Private Good Privacy
= % Public Gone Private

4 % Public Gone Privacy

Question Number : 45 Question Id : 819657801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

PGP T 0T &9 T 87



Options:

WEr I3 9ESHr (Pretty Good Privacy)

1.

5 % YIgaC I3 Wigadr (Private Good Privacy)
. » Jfedeh T 95ae (Public Gone Private)

, » 9feder T JEaEr (Public Gone Privacy)

Question Number : 46 Question Id : 819657802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a combination of hardware and software package that provides services to web clients.

Options:
1 « Web server

- % Web page

- % Website

4 % Web technology

Question Number : 46 Question Id : 819657802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FrigTT afft FiveSTT S5 T U HIISE § S 4T oI & B WenT wOaT O

Options:

1_Jéﬁ'ﬂé_{

2_%‘3 ﬁ*q'el?r
S_éﬁémtnez

AT EEAEE

Question Number : 47 Question Id : 819657803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

chart provides data changes over a period of time in Microsoft Excel.
Options:
1 % Surface



> « Column

= % Atrea

Question Number : 47 Question Id : 819657803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS Excel & qE FHT F HTAR 3T F AT TREaA H @ g

Options:

| % TIHF
5 o FAH

» % (Th)

=5,

4x T

Question Number : 48 Question Id : 819657804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
charts emphasize the magnitude of change over time in Microsoft Excel.

Options:
1 % Bar

> % Line
5 o Afrea

4 % Surface

Question Number : 48 Question Id : 819657804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS Excel # I AT F T INEFIA F INUNH F AgeT a7 2
Options:
1 ® EIey

> ® E“$E



. &% (TR

4 % TR

Question Number : 49 Question Id : 819657805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Match the following:
1. Column chart i) plot two groups of numbers as one series of
Xy coordinates
2. Pie chart 11) gives optimum combinations between two
sets of data
3. Surface chart 111) display data changes over a period of time
4. Scatter chart 1v) display the size of items in one data series
proportional to the sum of the items
Options:

s 10v), 2(iiD), 3(i). 4(D)
o o (i), 2(iv), 3(id), 4()
5w 13D, 23v), 3(1), 4(iD)

. s LG, 2(iD). 3(D). 4Gv)

Question Number : 49 Question Id : 819657805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



=faf@a # Few st
1 @ Ie i) xy f@cems & v y@en & w9 A
TEIT % & THEN # Selie HAT gl

2 95 = i) 37 ¥ & FH==AT F 9T FVEaH
IS &7 2

3 FTHE AE i) HAY F FFER 3¢ H A IREdT
fa@rar g

4 FhET O iv) TEIIHT F AT F HGAAE TH FeT
ST H TEHT F HHR F&d Har

gl
Options:
L w 1Gv), 2(i), 3(i), 4()

o o D), 2(iv), 3(i), 4()

1(it), 2(v), 3(i), 4(iii)

z ®

1(ii), 2(i), 3(), 4(iv)

4 ®

Question Number : 50 Question Id : 819657806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Abort’ is used to describe the of a computer process or command.

Options:
1 % start

> o termination
3 ® resume

4 % restart

Question Number : 50 Question Id : 819657806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Abort’ T3l FgeT 9I8F AT FAS & glel I g gl

Options:

1 ® Q-F




3_25631-&-

e (dFere)

4 ®

Question Number : 51 Question Id : 819657807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The hacker who is working to harvest accounts may use software to find data on a network.

Options:
1 % edit

-~ % DoS
5 o Sniffing

4 % Cut

Question Number : 51 Question Id : 819657807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g S WAl H FCAT TR g, Acdeh W 52T Wit F T HTFEITT FH FAT
T TH gl

Options:

1 = edit

- ® DoS

-  sniffing

4 % Cut

Question Number : 52 Question Id : 819657808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is the most common types of audio-output device.

Options:
1 % Printer

-  Speaker



= % Monitor

4 = Keyboard

Question Number : 52 Question Id : 819657808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Hif3a-3msege By F F98 AT YHN 2

Options:

1. ® iﬁﬂ

o o TEER
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Read the following passage and answer the questions that
follow:

A concern with the enviromment is imperative for us because we
live from it: we live in it; and we live with it. By saying that ‘we
live firom it’ 1s meant that it provides us the means to our livelihood.
It is the source of raw materials for productive activities. So much
so that we mine its resources. cultivate and harvest its fruits:shape
the forms of the land for human habitation, to construct roads and
dredge rivers for transport.

“We live in it’ means that ‘the environment is not just a physical
necessity for human life and activity: it is where we lead our daily
lives. Environment matters to us for social, aesthetic and cultural
reasons. It is where our work-a-day life takes place and derives its
significance. It is where besides work we spend our leisure:
walking. fishing. climbing. swimming. playing etc. Forests.
beaches. rivers, seas. mountains -- provides us the backdrop of
these recreational activities.

We live wifh the environment. It existed before our arrival and shall
outlast us on earth. It is given to us, we have not created it. We can
only respond to it by expressing a feeling of wonder towards it.
Any loss of bio-diversity. the disappearance of particular habitats
and the extinction of particular species of plant and animal life is
mourned for its own sake.

Indian thinkers and sages realise that the cause for environmental
degradation is not need but greed. According to them natural
desires are satisfied easily: thirst by water. hunger by food. But the
desire for possession is an artificial one: it goes on unceasingly and
is never fully satisfied. Man’s appetite for gold. for example. is
never satisfied.

Human beings have imbalanced greedy minds and constantly strive
to fulfil their desires by adopting right or wrong means. They forget
that “all things are connected’. The destruction of one leads to the
destruction of the others. Therefore. it is imperative to respect
traditional wisdom along with modern eco-friendly practices and
learn to live in sync with the environment.

Sub questions

Question Number : 53 Question Id : 819657810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By living fiom the environment, the author means

that we are dependent on environmental resources

Options:
, « forour livelihood, food and shelter.



- % butdo not give anything in return.
2 % for fulfilling our needs but are unconcerned about it.

, = butnobody feels responsible for the environment.

Question Number : 54 Question Id : 819657811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Environment has a recreational value for us because
Options:

activities like mining, farming. or construction are

, = enjoyable because they are outdoor activities.

many of our outdoor leisure time activities are best

> of enjoyed in the lap of nature.

it provides the backdrop for us. the actors, on world

5 » Stage.

4 % Environment depends on us for its conservation.

Question Number : 55 Question Id : 819657812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which sentence in the passage tells us that

environment is everlasting but we are not?

Options:
The environment is a physical necessity for human

i.® hte

Forests, beaches. rivers, mountains provide us great

» % pleasure.

Enviromment existed before our arrival and shall

= « outlast us on earth.

Indian sages and thinkers have always been

4 % concerned with nature.



Question Number : 56 Question Id : 819657813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What according to the author is the difference

between need and greed?

Options:
. + Need can be fulfilled but greed is never satisfied.

Drinking water when thirsty is need but denying

- » oneself food is greed.

Our desire to buy unlimited jewellery or clothes is

5 x greed.

Killing animals till they become extinct is an
4 % outcome of greed.

Question Number : 57 Question Id : 819657814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which sentence best expresses the message of the

passage”
Options:
, w Environment is an essential part of our life.

Environment provides us with everything without

- % expecting any return.

We should try to live in harmony with environment

= « because ifs destruction will ruin us.

We have no right to exploit and destroy people all

4 % around us

Question Id : 819657809 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 819657810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 819657811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TITEI0T F AR BT AAREs HET g i
Options:
A, Wdr ar AAor A9 et
|« HeeerTs § w3 Al e #
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Question Number : 55 Question Id : 819657812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HeT=og, HFAT A IFTEH aaar & &F
qAEoT A & T ¥ g & A 27

Options:
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Question Number : 56 Question Id : 819657813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 819657814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FI TN FFT, FHJ=od & TS F TIU =0T
TRE ¥ =TFd FIaT 27
Options:
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Section Id : 819657120
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 819657120
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 819657815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What will come in place of question mark (?) in the following question?

(2% 3)3+ (4% 9)2 % (27 X8)2 = (6)
Options:
Lol

LA

2_-&35

Question Number : 58 Question Id : 819657815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Tafaf@a wea & weafEes (?) & FIT 9 F7 30

(2x3)° + (4%x9)? x (27 % 8)? = (6)°
Options:
19

2_%6

Question Number : 59 Question Id : 819657816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On a shell there are 4 hooks on Economics, 3 books on Manngemen! and 4 books on Statistics. Tn how many different
ways can the books be arranged so that the books on Economics are kept togsther?

Options:
|« 967680

> % 120960
s % 5040

4 % 40320

Question Number : 59 Question Id : 819657816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UEF 9FF 9T FewvmEs #r 4, waua Fir 3 My miemdr i 4 aw @ ) =7 feeEt = e 8w
TWT =T AT £ TR e & mf e v 3y v oo

Options:

.« 967680
. % 120960
5 % 5040

, = 40320

Question Number : 60 Question Id : 819657817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A sold an article at 10 percent loss on the cost price. He had bought it at a discount of 20 percent on the labelled price.
What would have been the percentage loss had he bought i at the labelled price?
Options:

1 ® 34

~ % 18

- % Data provided are not adequate to answer the question

4. v 28

Question Number : 60 Question Id : 819657817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A F TH T4 F A0 HFE H 10 9fE @fF W a9 35 50 AT 50 # 20 9fRnE g W T
T AfE I TR F Ao #Ew W T g A 3R RRee wiew gl g

Options:

.« 3R & & forw f&mr mw ser 9Ot AL g

4 v 28

Question Number : 61 Question Id : 819657818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What approximate value will come in place of question mark (?) in the given question? ('You are not expected to
calculate the exact value.)

0.98% of 7824 + 4842+ 119.46—-7=178
Options:
1 ® 30

> % 60

2.« 40

Question Number : 61 Question Id : 819657818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A T=TEd 999 § a5 (7) & T 97 A7 ITT =900 319 47 #3907 (Fae JAF &=0 0T F:0
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7824 &1 098% + 4842 - 11946 -7 = 78
Options:

1 ® 30
> R 60
z v 40

g 50

Question Number : 62 Question Id : 819657819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A dealer marked the price of an ftem 40% above the cost price. He allowed two successive discounts of 20% and 25%%
to a particular customer. As a result he incurred a loss of ¥ 448, At what price did he sell the item to the said customer?

Options:
| % 32,416

o 38D
e

o TIIED

Question Number : 62 Question Id : 819657819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% T 2,416

, v T 2,352
. » T 2,268

on % 215

Question Number : 63 Question Id : 819657820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

A takes 30 seconds to cross a rectangualar feld disgonally walking at the speed of 32 meters/minute while ‘B takes the

same to cross the same fisld along s sides walking at fhe speed of 72 meters/muinute. The areadin mT'j of the field iz

Options:
1« 310
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Fimul ot bow ramy such pairs of letters are thers in the given word each of which has as many letters between them in the

word as in the English alphabet,

HACKLE
Options:
1 % One

> % Two
3 % Three

4 « Four

Question Number : 64 Question Id : 819657821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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HACKLE
Options:
1 ® Tk

zﬁa

33%?'“?‘"

4 ¢ TN
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Correct: 1 Wrong: 0
Jumbled letters of o meamingful word are given below, Rearange these letters and select from the given altermatives the
worid which 15 almost similar in meamng to the remmanged word.

DCPRTIE
Options:

, % Explain
> « Foretell

z % Observe

4 % Assert
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DCPRTIE
Options:
, = Explain

> « Foretell

z % Observe

4 % Assert
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Correct: 1 Wrong: 0
Select the right option to complete the following from given options:

I:England :: Lira : II

T (1) London (2) Pound (3) King (4) Colony
E: (A) Italy (B) Mexico (C) Mandolin (D) Money

Options:
1 % land A

> # land B
2 « 2and A

4 # land D
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Correct: 1 Wrong: O

Select the alternative with the most appropriate description about these three words.
Mars : Mercury : Venus
Options:

. » They have no opposite motion.

> % They are evil planets.
-  They are the planets nearest to the earth.

4 % They have no corresponding lucky stone

Question Number : 67 Question Id : 819657824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: O
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There is certain relationship between the first two words. Select the correct option which have the same relationship
with the third word.

AFHO : GBDJ ;: CHEM : 7
Options:
, % GBIM

> % GBLD
2 % GPLD

4 « IDBH

Question Number : 68 Question Id : 819657825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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AFHO : GBDJ :: CHFM : ?
Options:

, % GBIM
., % GBLD
- # GPLD

4 « |DBH
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Correct: 1 Wrong: 0
In the following question. a wiord is represented by only one 2t of numbers az given in any one of the alternatives | The sets
of munbers given in the alternatives are represented by nwo classes of alphabets as in the two mven matrices. The columns
and ronwe of Matrix [ are nurmnbered fom G 1o 4 and those of Matrix I from 5 o 8. A letter fom thess matricses can be
representad Orst by its row and then the column mpmber e.g. in the matrices for questions 1 o 4, M can be represented by

14, 21, efe; o can be represented by 20, 32, e¢le. Sirmibarky vou have 10 identily the correct sel for the word given below in the

guestion.
Marrix L Matrix Ll

o0 [1 (|2 ([3 |4 s |6 |78 (9

|

0 |F |O|M|S |R 5 |lAlT [D]1I |P
I S |RI[F |O|M g |1 F |A|T |D
2 |0O|M|S5 |B|F T T |D I |P |A
i |[R|F|O[M|5 8 |P A [T|D |1
4 |M|5 |E |F [ 9 | |I |P|A |T

MOST
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1 %

4 &
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Question Number : 70 Question Id : 819657827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following organizations 1s the oldest?

Options:
1 & IMF

> % WHO
3 ¢ ILO

4 # FAO

Question Number : 70 Question Id : 819657827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 71 Question Id : 819657828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which country has given asylum to Julian Assange, Wiki leaks founder?
Options:

1 # Russia



> « Ecuador
=z % Cuba

4 # None of the given options

Question Number : 71 Question Id : 819657828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 819657829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Under which Five Year Plan agriculture register a negative growth:

Options:
. « Third

- w Fifth
3 ® Seventh

4 % Ninth

Question Number : 72 Question Id : 819657829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 819657830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mohammad Yunus, who has been awarded Nobel Peace Prize in 2006, is a citizen of:

Options:
,  Bangladesh

-~ % Iran

- » Malaysia

4 % Pakistan

Question Number : 73 Question Id : 819657830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 819657831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
Match List-I with List-II and select the correct answer using the codes given below the Lists:

List-I (Movement) List-II (Personality)
A. Satya Shodhaka Mandal 1. Bal Shastri Jambhekar
B. Manav Dharma Sabha 2. Jyotibha Phule
C. Darpan 3. Henry Vivian Derozio

D. Young Bengal Movement Mancharam 4. Mehtaji Durgaram

Options:
1 % A-1.B-2, C-3.D-4



. » A-2.B-4,C-1.D-3
5 % A-4,B-2,C-1,D-3

, % A-2.B-1,C-3.D-4

Question Number : 74 Question Id : 819657831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 75 Question Id : 819657832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Heat energy of an object is:

Options:
; = the average energy of the molecules of the object
-  the total energy of the molecules of the object

- = the average velocity of the molecules of the object

, » the average potential energy of the molecules of the object

Question Number : 75 Question Id : 819657832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 819657833 Question Type: TYPING TEST Display Question Number : Yes

Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woImens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.

Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation Mode: Non Standard



Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes
Allow Back Space: Yes

Show Back Space Count: Yes

Actual
Group Number : 3
Group Id: 81965784
Group Maximum Duration : 20
Group Minimum Duration : 20
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 0

English Typing Test

Section Id : 819657124

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 819657124
Question Shuffling Allowed : No

Question Number : 77 Question Id : 819657834 Question Type: TYPING TEST Display Question Number : Yes



Kargil war was an armed conflict between India and Pakistan that took place between May and July 1999 in
the Kargil district of Kashmir. In India, the conflict is also referred to as Operation Vijay. Kargil was a military,
political and diplomatic victory for India. The Kargil war was fought in 1999 between [ndia and Pakistan in
Kargil, Ladakh which was initially Baltistan district, separated by the LOC after the first Kashmir war. It was
the first war between India and Pakistan after the one in 1971 which had led to the formation of Bangladesh
a5 a separate country. During the Kargil war Atal Bihari Vajpayee led MDA Zowernment was in power. In
response of the war India launched Operation Vijay to clear the Kargil sector of infiltration by Pakistani
soldiers and Kashrmiri militants on the Indian side of the Line of Control. The war took place despite the two
nations signing the Shimla Agreement that stated that no armed conflict shall take place on the said boundary.
The Palkistani soldiers and terrorists had positioned themselves at higher altitudes, it gave them an advantage
in cormbat, as they could fire down at advancing Indian troops. Pakistan shot down two Indian fighter jets
while another fighter jet crashed during the operation. After India started taking over the land captured by
Falkistan, Pakistan asked the US to intervens, but then President Bill Clinton declined to do 50 until Pakistarni
troops were withdrawn from the Line of Control. A5 Pakistani troops withdrew, the Indian armed forces
attacked the rest of the outposts, managing to get back the last of them by July 26. The Army declared the
mission successful on July 26, 1999, Since then the day has been celebrated annually as Vijay Diwas. Safed
Sagar, the Indian Air Forces operation, was a major part of the Kargil war. It used air power at the height of
22,000 feat for the first time. From identifying the Pakistani troops and Mujahideens to interdiction, all the
actions were performed well by the pilots and engineers despite just one weel of training. India lost more than
E00 military men on the Kargil territory while reports from Pakistan claimed that more than 2000 of their
soldiers, mujahideens and infiltrates died. The war is one of the most recent examples of high altitude warfare
in mourntainous terrain, which posed significant logistical problerns for the combating sides. It is one of the
very few instances of direct, conventional warfare between nuclear states. India had conducted its first
successful test in 1974, Pakistarn, which had been developing its nuclear capability since around the same
time, conducted its first known tests in 1998, just two weeks after a second series of tests by India.
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